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1- Given the Taylor polynomial expansion

cos(h)=1- %— +0(k")

=
then the order of approximatios. of cosh sinh is

! (a) o(r”) ,WM) 0(h™) (e) None of the above
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2- The fixed points of g(x)= 4x-i2— —4 are x=2,x=4one of the followings is true H

(a) Beth of them are attractive fixed points.” -
o (b) Both of them are repulsive fixed points.
N x =2 is repulsive fixed poin: but x = 4is attractive.
x =4 is repulsive fixed point but x = 2is repulsive.
(e)None of the above.

s JGy= ¥-X
/7 lj¢~K1)l——-Ll~‘( =028 7 \ '}(b\

D e S b




3- The order of convergence R and the multiplicity M of the oot p=1 of

f(x)=x"-3x" +3x-1 are 5(/7) B
(d) R=2, M=3 F(a): ‘5p<L—(,x~+3
© rR=1, M=3 ; &
Y ) R=2, M=} )(“(«)1 14 e W) = o
DR=1, M=2 '
(e) None of the above. -}(> E

4- Given the data {1.0.5000;,(2,0.3333},(3,0.250) . An estimation of f{z.5)using
polynomial interpolation and 6- -digits arthematics 18

(a) 0.401248 @.281225 (c)0.0937250  (d) 0.218725 @onc
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5- An upper bound for the error in the above estimation when f(x) =

(a) 2x107 (b) 4x107 () k107 (d) 1x107 @}\Ione -
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‘ 6- Given the data (I, F), 0.1 QD). 1.2, f1.2)), f(x) = P An estimation of
| O(h*Yof £'(1)is

(2)4.29655  (b)14.7512  (c)-0.20480  (d)0.2489  (e)None
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- ihe cost of solving  vx=3 when A is 3x2 matrix using Cramer's meth:d is

1 L;f Cﬁgq/ ()56 (c) 45 (d) 42 (e)None
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{ 7 the answer is
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9- One of the following statements is trye:

‘1) The bisecti ,
o NCWtOiflcxlotlﬁ I]:ie'thOd 15 costly but it always converges.
(3) False positi od 1s the fastest and cheapest method.

’ on method is as fast as the secant method

@ The secant :
method is faster than bisection but slower than Newton
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The b:.'St upper bound of the number of iteration needed when using the bisection
niethod te estirate a root of j(x) in [2,5] with error less than 107is

a) 2
/Q/ (a) 20 oyl ()19 (d)22 (e) None of the above
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11- When using Newton method to estimate the root of  f(x)=x’ —cosx-2
in[1,2],F, =1.7¢ the |* Iteration A is ;

| @15 ®14 (©)1.7 (d) 1.8 (e)None of the above
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12- When using the false position method to estimate the root of  f(x) =x" —cosx -}
in[1,2] then ¢, (the 2" iteration)is

@- 1.2696 (b) 1.8215  (c) 1.1235  (d)1.72134  (e) None of the above
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13- Using the secant method to estimate the root of  f(x)=x" —cosx~2
in[1,2] and P, =1,P, =2 then P, is
(2) 1.1235 7 b)) 1.2696—(c)i.72134 ()1.8215  (e)None of the above
Pr = "Hf'l)(ﬂ-ﬂ) = — Lo ()
Hp) —fp T =
'P' —~£(1) g LA 1“4) .
= tlaa —(-c Gyt . )
SR e e :
B (o py- (L)

14- When using the Gaus(s-Sidel mcthod) {o estimate the solution of
g,(x,2)=(2x-3y +22-1)/7 P o (,)_(
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g,(x,,2)=(x~y+32-3)/2 q
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Then if A =(pl’ql'rl)’rl is - "D’qlg ¢
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5 The order of the error of the formula is
f‘(X) = f(x + h) ,.f(x)
' h

@) ox®)  (b) 0(hY) @0(;. ), (d)0(k*)  (e)None of the above
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16- The constanis ¢,,c, and x, so that the quadration formula

eeof precision are

_'3 F(0di = e S (@) + 2 f(x,) has the highest possible degr
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17- For the above formula, the error constant & & o 3 :
@ ~ (e) None of the above
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. 2 ‘ )
Q#2(16P0int5) Estimates je'% dx, h=0.25 one of the followings is true
- 1
(s) Using composite trapezoidal rule.
(b) Using composite Simpson rule.
(c) Find an upper bound for the errors inaandb.
(d) Compare the above estimations to the exact answer.
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